
· B(NaOH) =mNaOH =2 -
· a)NaOH =mINaOHI 209

MINaOH)
=

1.23 +1.16+1.1,d2
=015mol
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m(HCl)
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M(HCl
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B(HC1) =m(Hall c(HC1) =m(HCl)
Vasy Visy

=

104,748 =2,87 mol
1 1

⑭74m

ca· calNO3Izis HeO
v call

+2 NOscual

· M(CalNOsIz) =164, 1mo

c)CalNosI2) = MICalNOsI
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-
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o

Verdimnangsgesetz:cn Un= c2Ve



c=c2 =4.c

-Somb. I amin

⑰
Massenkonzentration:B2 =c.M

=1,54m. 119 M(kBr)=(39,1+79,9)i
=

1838
=115and

I

Stuffmengen konzentration:((NH4NOs) = m(NtNOsI
Visy

m(NH4NOsI
=

MINHrNOs). Vasy

w(NH4NOs). mLsy
=

MINANOS1. Vasy
w(NHNOsI

=MINHNOI Lsy

=3% q

so tsoI

⑰mal

Gegeben:sz =1,15; w(HNOs) = 25%

Stoffmengenkonzentration:(HNOs)=WN use
0,23

=

(1,0 +14,0+3.16,0 1,15 10
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t
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m=n.M

Massenkonzentration:B(HN03) = mCHNOs c.M
Visy
m.(HNOs1. MIANOsI

-

Ksy
=c(HN0s)- MIHNOSI
=4,56m. (1,0+14,0+3.16,0)
5

· m=m+n(NacH)

m
=c2.V =0,1 .002 =2.mmd

0,253
In(NaOH) =mINI (23,0 +16,0+10

6,25mmol

n =mn+n(NaOH)
=2mms) +6,23mmal
=8,25mmo

-25. 1o mol MINaOH =4ow
· m=cksc1=

M
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=
8,25mmd B =c. M

20mL
=0,4125 my. Non
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MyOH)2 isl H2O
c Mg*coN + 2 OH8caal

c(Mq(0tz) =n(Mg(0H(z) M(Mgl0Hz) =58 m
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m(Mg(0tz)
=MIMglot). VIs]

3,59
-

58.0.3L

=0,2nd

und:< (OH) =2. c(Mg(OHc)

w
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mol
=
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WIC2HOlstoffmengenkonzentration:((C2Hs0) =M(C2HsO l (sy



=

0,32

469502
-6,61

Massenkomzentration:B(C2H,0) =<(C2Hs0l · M(C2+10l
=6,61m. 46
⑰

· Massenkonzentration:B(NaNOz1=rcsy. wINaNOs
=1,293-0,40
= 1295 .0,40

-
stoffmengenkonzentration:a (NaNOsI= B(NaNOsI

M(NaNO3I
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-
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-51m

· Verdimnaysgesetz:GU =

c2Ve Y =500mL
mol

V2 =V c=2 [
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2 -

2
=7,51

-3,2mis

c =n.r =m.r =1,0,25-n



Massenkonzentration:B(HNOs) =mINOs
=wIHNOsI miss

VISz

=wIHNOs1.sy
=0,25. 1,13

-,5
Stoffmengen konzentration:(HNOs1=B(HNOsI

M(HNOs
=

287,5
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